B o= F H OB
B TH314F4A 1H
= 42438318

(B - M)
7 B il %5
2 B E=1 ]
B = E 3 % =
# # & 1,364,942,191
A " & 8,951,246,154
* 7% ES & & 2,987,778,230
b fili & A =1 3,510,750,523
fi & H it & & 875,499,963
K B * £ & 1,102,212,370
id & X & & 497,384,075
3 sF B & & 630,645,030
& b & 701,874,001
= g % 297,778,044
z 0] fth 1,358,462,615 22,278,573,196
- 2 & i B
A # & 778,625,186
* % ES & =1 68,824,449
b5 i & A & 47,453,217
& ) H =3 & & 16,985,321
7K B 3 Z & 14,379,386
i3 & R B & 28,924,756
® <F B fi& & 33,343,226
& i % 7,731,615
& g & 18,479,392
z )] fth 103,494,440 1,118,240,988
Bt # & A
b2 h F 2 8,851,205 8,851,205
#®# ® B A & ® 23,405,665,389
& H I i
E B B X O &€ W #CH 12,020,123,780
B ¥ - B Ix A 1,943,869,110
T O M =2 F &R A 4,008,628,036
o % U A 1,674,958,630
# Bl kil = I #F GF) 18,985,823
i} B & IR #® G 582,566,422
F i ® I #F GE) 71,058,401
BEE5 42 RRICHEDIECGH 423,799,419
EBHBMSILERRICEIINE G 364,297,760
EERBREEEXMNHER A GD 1,411,332,351
EERRBE EF R AGCH 486,760,151
E E R ERF M £ RE AGH 379,199,900
Le] B & I A 455,206,299
Bt = =1 = IR A 136,898,753 23,977,684,835
# I 3
2 B F <! 147,471 147,471
3 342,349,108 342,349,108
# B IR & & F 24.320,181,414
3 £ F 3 914,516,025
& B # %
B E & E 5% # KR #H $# 180,494,983
R EREYETICHSIESSIHEBA GD 421,840,816
RHBEERITICHESEBKAFER D 3,730,188,295
SEHEEWETIHESPCBAS RASILLBA GF) 258,658,400 4,591,182,494
B ¥ F 1%
T OB E F& M O# 852,493
EEEERNFICHANDIRERREA G 48,204,685
BE 55 52 RRICHEDIRECDH 421,840,816
EBHEHEMSIZERRICEKEDIINE GH 3,730,188,295
PCBAL N ERASILERRIZFREDIINGE GF) 258,658,400 4,459,744,689
=1 # o F E2 783,078,220
MPHEEHEBRUEBRIEIMAE G 28,835,667
B #® ¥ i1 £ W B %EcH 97,516,269
| # & # £ 909,430,156

(B Shild, MIITBEEABRORFLEICHIHEREB THYES,






